MIAMI-DADE COUNTY, FLORIDA
DADE METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov

Migdel’s Services Corp.

1664 West 38" Place

Hialeah, Florida 33012

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their Jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: HPMA / “ Performance system 2 ” Aluminum Accordion Shutter

APPROVAL DOCUMENT: Drawing No. 07-180, titled “ Performance System 2 Accordion Shutter ”, sheets 1
through 6 of 6, prepared by Tilteco, Inc., dated July 11, 2007, signed and sealed by Walter A. Tillit Jr., P.E., on
July 12, 2007, bearing the Miami-Dade County Product Control Approval stamp with the Notice of Acceptance
number and the approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1, evidence submitted page E-1 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E., M.S.

# M\/ NOA No. 07-0727.12
"'A"'UN“' /4 - Expiration Date: 02/14/2013
Approval Date: 02/14/2008

°2’//4/2'009 Page 1



Migdel’s Services Corp.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Drawing No. 07-180, titled ** Performance System 2 Accordion Shutter ”, sheets 1
through 6 of 6, prepared by Tilteco, Inc., dated July 11, 2007, signed and sealed by
Walter A. Tillit Jr., P.E., on July 12, 2007.

B. TESTS
1. See Association’s generic approval under 07-2513.

C.  CALCULATIONS
1 See Association’s generic approval under 07-2513.

D. QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

E. MATERIAL CERTIFICATIONS
1 See Association’s generic approval under 07-2513.

F. STATEMENTS :

1. Release letter issued by the Hurricane Protection Manufacturers Association,
dated June 13, 2007, certifying this product to meet the criteria of product tested
and approved, and allowing Migdel’s Services Corp. to use the test results
approved under Miami Dade County Approval No. 07-2513, signed by Mr.
Enrique Revilla.

2. Acknowledgment letter by Migdel’s Services Corp., dated June 13, 2007, signed
by Mr. Migdel Castro.

3. Letter by Tilteco Inc., dated July 12, 2007, signed and sealed by Mr. Walter A.
Tillit, Jr., P.E., certifying that the drawing (No. 07-180) prepared for Migdel’s
Services Corp. is engineering wise identical to HPMA'’s generic drawing (No. 06-
219).

Y ] ldne

4elmy A. Makar, P.E., M.S.
Product Control Examiner
NOA No. 07-0727.12
Expiration Date: 02/14/2013
Approval Date: 02/14/2008




- - 24057 ————3.172" 1. ACCORDION SHUTTER SHOWN ON THIS PRODUCT APPROVAL DOCUMENT HAS BEEN VERIFIED FOR CODE COMPLIANCE IN ACCORDANCE WITH THE 2004
%y P ——1-870"—— 1.870" 1.963"
. 075" X

i EDITION OF THE FLORIDA BUILDING CODE W/ 2005 & 2006 SUPPLEMENTS.
0 7 ——.720" 075" ~.597 1. 167"—] 2046

8

L

!

™

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE. IN ORDER TO VERIFY THAT ANCHORS ON THIS
. 187" PAD., AS TESTED, WERE NOT OVER STRESSED, A 33% INCREASE IN ALLOWABLE LOADS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. HOWEVER
-1007] 8 586" . FOR LAG SCREWS INTO WOOD, A 1.60 WIND LOAD DURATION FACTOR WAS USED TO CALCULATE SCREWS SPACINGS.
: (1. 043", ) "L‘r“’-z” — ACCORDION SHUTTER'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED N ACCORDANCE WITH SECTION 1608.1.4 OF THE ABOVE
o624l _{Losz" 062"~ r062 MENTIONED CODE PER TAS-201, TAS-202, AND TAS~203 PROTOCOLS AS PER CONSTRUCTION TESTING COMPORATION LABORATORY REPORT N° 06—039.
080l . [
90"

R..050-

1.250

f
2 '075:6_7'250”“] Lg75"
= i
A
wora il

J —|Les”

-2 p4

068" 4
"J.589J‘-_‘759" ‘-I.USO"J —-J

580"

T—090"

-3.479*-
00

“—
—
| |
]

738"
f
67|
1.0
l-—1.649
2.763"
e
0"~ 080"
L
N
250"}—

2. STAINLESS STEEL SHEET METAL SCREWS USED AT LOUVER PIN SHALL BE # 14 x 3% 410-HT MINIMUM SERIES w/

135.0 ksi YIELD STRENGTH & 180 ksi TENSILE STRENGTH. SCREWS SHALL BE COATED WITH XYLAN 5000 SERIES FLUOROPOLYMER COATINGS AS
MANUFACTURED BY WHITFORD Co, BOX 507, WEST CHESTER PA. 19381,

562"

.062"— f—-

062 —

25t
He- 100" \_J
J--—.aao"

.oa«:l L
-.7514—1.087"

500

933"—~.580"—
5007

738

-2.32G "™

-2.229".
oj068"
——r.64.

R..063:

t[[' 4. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 SERIES
125 N 062" COATED CARBON STEEL AS PER DIN 50018.

3. ALL ALUMINUM EXTRUSIONS SHALL BE 6063~T6 ALLOY WITH MINIMUM YIELD STRENGTH OF Fy=31.0 ksi.

068"

j—1.503"——
l1.031™

—1.093"™

68" ——
250

1
.08

W/ 50 ksi YIELD STRENGTH AND S0 ksi TENSILE STRENGTH OR CORROSION RESISTANT

1,170 '——L—I. 093 ~]

~—1.050"—!

(@ WALL HEADER (& INVERTED) CEILING HEADER © WALL SILL
SCALE : 3/8" = 1* SCALE

P 38" =1" SCALE : 3/8" = 1*

ey
>,

710" 11.000" 5. ALL ALUMINUM POP RIVETS TO BE 5052 ALUMINUM ALLOY WITH ALUMINUM MANDREL.

%o

6. BOLTS TO BE GALVANIZED OR STAINLESS STEEL WITH J6 ksi MINIMUM MINIMUM YIELD STRENGTH.

@ FLOOR SILL 7. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)
SCALE : 3/8" = 1*
(A) TO EXISTING POURED CONCRETE: f'c PER SCHEDULE ON SHEET 6
=~ 1/4" & TAPCON OR 1/4"8 MAXI-SET TAPCON, AS MANUFACTURED BY LT.W. BUILDEX.
= 1/4" 8 CRETE FLEX 554 ANCHORS, AS MANUFACTURED BY ELCO TEXTRON.

= 1/47 8 x 7/8" CALK~IN ANCHORS AS MANUFACTURED BY POWERS FASTENERS, INC.
[—1- 938" ————2.362"

NOTES:
~1.043 "~ [———2.066"—— ——2.095" ——1.450"—-

A.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS AND CRETE FLEX S$S4 ANCHORS INTO CONCRETE IS 1 3/4"
—1.591" .597""* -1.191"— 080"t~ 1.935"— 080" AZ) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE.
- =5 " 068" { NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED.
I Y. 055"—  pors 1/4" #-20 S.S SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST.

015 DEEP X 90 - AJ) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING
f——2.075"—— ]—LA\-

WALL FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.
~—.J80 ANCHORAGE SHALL BE AS INDICATED ON NOTES A1 & A.2 ABOVE.

.500"

062" A
e, T

1.943

=

",

Lr. 170"

R.039(3)

1.327"

.
L
fi.n
g
942"

1.452
1.490

p (B) TO EXISTING CONCRETE BLOCK WALL: ASTM C-—-90 BLOCK
Y 055" ! E - 1/4" ¢ TAPCON OR 1/4"0 MAX|-SET TAPCON, AS MANUFACTURED BY LT.W. BUILDEX.,
F = 'T' x ‘ - 1/4" & CRETE FLEX S$S4 ANCHORS, AS MANUFACTURED BY ELCO TEXTRON.

'8 l—.s?OSOO" ":n 5052 2 - 1/4" ¢ x 7/8” CALK—IN ANCHORS AS MANUFACTURED BY POWERS FASTENERS, INC.
& ’ g R

@ FLOOR SILL @ @ 90" STARTER @ 180 M;ﬂ" - ° g.OISEi;INIMUM EMBEDMENT OF TAPCON ANCHORS, AND CRETE FLEX 5S4 ANCHORS INTO THE CONCRETE BLOCK
SCALE : 3/8" = 1* ADJUSTABLE SILL ADAPTO ° 80° MALE STARTER UNIT SHALL BE 1 1/4"
02 THRESHOLD TRACK R &

SGALE ; 3/8" = 1 SCALE: 3/8" = 1" SCALE: 3/8" = B.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO
SCALE : 3/8" = 1° ’ = EMBEDMENT INTO STUCCO SHALL BE PERMITTED.

1/4" 9-20 5.5 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST AND 1* MINIMUM
FOR WALLS WITH NO STUCCO.

2.445° 1.928" : B.) IN CASE THAT PREGAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTNG WALL,
HOLE (oeE BrarT S By ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEMIND SUCH PANELS. ANCHORAGE
- XA BN 500. 912 “F 53" : SHALL BE AS INDICATED ON NOTES B.1 & B.2 ABOVE.
S 5.069" % a7 ~f—oss*
Sy 4.500" 5.000" 8 ¥

-3.964"
1.028"~——1.853 h—ijoﬁ%J:—.
! |

Lr.0124) ' X
B ]

NS g ¢
g g

A7z 727"~

7. IDO"J

I~ 31~
722"

-3.700*

3
068"~ f'_
.oeo"—-L

3.545"

ANCHOR'S MANUFACTURER.
8. SHUTTER'S COMPONENTS ARE PATENT PENDING.

L .dso 9. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE

= ' 080" 080" g P STRUCTURE WHERE SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER
N 9N "’J"ﬁ,ﬂ: : 579" SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME BUILDINGS.
3 324" : 2.733" 2.164" 943"

d - 3.316™ 737 e 3,107~ [ 324% 10. A PERMANENT SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED ON THE EXPOSED SURFACE
LE/MALE BLADE e 431" ' OF e VUL CENTERIATE BLADE
© MALE/FEMALE BLADE € maLey) ¢ : OEONENT_ @) ).
. o gm ONE LABEL SHALL BE PLACED FOR EVERY PENING. LABEL SHALL READ AS FOLLOWS:
SCALE: 3/8" = 1* SCALE: 3/8" = 1 @ F EMALE CEN TERM_A T"E BLADE @ MALE CEN TERMA"TE BLADE .PERFORMANCE SYSTEM 2 Ai‘CORDIOSV SHUT?'ER'
SCALE: 3/8” = 1 SCALE: 3/8" = 1 MIGDEL'S SERVICES, CORP.
HIALEAH, FLORIDA

MIAMI~DADE COUNTY PRODUCT CONTROL APPROVED.
I_‘ (2)HOLES FOR

| (C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE
2
[
N

254%
Ao
TJOV’

J

N
3
Q
k-4
s
sfs'j
>
74
741
IOJ[_J 318"
— [— 140"

324

Iy

080" 122
+
] 7

471

%4
%oz, M:E

-09p

11. (o) THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) PREPARED BY THIS ENGINEER IS GENERIC
J/16"8 ALUM;
POP RIVETS

.063"— E‘”g”
- 130
. 906 "~ gup

.430"9
-:] >-.590"‘¢ :
ﬂ: PLASTIC
KNOB
) J
—1.500"¢— & @ LOCKING PIN (d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR
9 ARCHITECT WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO
' WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.A.D. ENGINEER OF RECORD, ACTING AS
n_
~£1.344 5 16”’ 1” S S M S. DELEGATED ENGINEER TO THE P.A.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC
X e lViowde SCALE: 3/8" = 1"

DRAWINGS FOR REVIEW,
W/PLASTIC KNOB LOCK

(e) THIS PA.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL
(0 BRASS NICKEL PLATED

ENGINEER THAT PREPARED IT. . . .
F.B.C. (High Velocity Hurrican Zone
PUSH BUTTON LOCK (High Velocity Hurricane )

PERFORMANCE SYSTEM 2 ACCORDION SHUTTER DRA:”;’ ar:

AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE Appmvef} &5 enss 33;5_»&;
5/16"18 S.S.M.S. » MIN: CONDITIONS DEVIATE FROM THE P.A.D. 5

Florida Buldizy Code
Hox1/2" 5. s, (b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION wcLuome Bate, © 2/ ) % 2008

THUMBSCREW LIFE SAFETY OF THIS PRODUCT BASED ON THIS PRODUCT APPROVAL PROVIDED HE/SHE DOES NOT NOA% 0 J—07 2. 7. 17
DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS Nilami Docs Orotus Dumie

THE CONTRACTOR'S RESPONSIBILITY. s
Divisior r/ é i Z

(c) THIS PRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED. By

(e

r——z. ooo

000"

['5/ 16”0

7

370"

5" Max. AS APPLICABLE———— .|

(DALUMINUM ANGLE
SCALE: 3/8" = 1"

- 188"

© 2007 HURRLANE PROTECTION MANUFACTURERS ASSOCHTION

F—2. ono'—]

m————————7.000" Max. AS APPLICABLE- COM P ON E N TS

| ’ 07/11/07
Z IILIEC O e MIGDELS SERVICES CORP. %
ALUMINUM ANGLE

iyt e 07180
TILLIT TESTING & ENGINEERING COMPANY HIALEAH, FLO J. —
- 6355 N.W. 36th, St} Ste. 305, VIRGINIA GARDENS, F1. 33166 PH: (786) 236-4546 FAX: (305) 364—9478
. S— Fhone + (05 57’,::‘9'5?0'0?;,"9 (Go)a71-1531 REV. o DESCRIPTION e | mrv. Mo DESGRIPTION ATE DRAWING No
; Y WALTER A. TILLIT Jr. P. E, ! it = L s =
JUL 1 2 2007 FLORIDA Lic. § 44167 2 = Z < = — | SHEET 1 OF 6




POURED CONCRETE

CONCRETE ANCHORS OR CONCRETE
(SEE SCHEDULE) BLOCK WALL
REQUIRED

# 14 x 3" 5.5. SMS.

W/ 7/16" x 7/8"
LONG NYLON BUSHING
(Tvo. TOP & BOTTOM)

CONCRETE ANCHORS
(SEE SCHEDULE)

POURED CONCRETE
\ REQUIRED ;

r\l

EDGE OF SLAB
IF APPLICABLE

CONCRETE ANCHORS
(SEE SCHEDULE)

(SEE SCHEDULE)

CONCRETE ANCHORS: x
POURED CONCRETE
REQUIRED ;

74

EDGE OF SLAB
IF APPLICABLE

N
~
3

% k.
B # 14 x 2" S8, Al 2 # 14 x 3" S.5. SM.S.
X . (—E Q- £0Q- X 2. DM
SMS. (Typ. TP i HT W/ 7/16"a x 7/8"
A TOP & BOTTOM) 1 TN, m1 LONG NYLON BUSHING
S i I . # 14 x 3" 5.5. SM.S. ! .—* (Typ. TOP & BOTTOM)
i | ]1 | @ W/ 7/16"¢ x 7/8" | T FI
i N | i F'?q LONG NYLON BUSHING | 1K L__gzgglll\lvAGL
L | | | l I(TypA TOP & BOTTOM) { Lt |1
1 o
1 L] [ I I [ rwmi I
(| [l % ! {1 vt I | .. Hh—
3 I T I LI} T, l l I ' S
' Il P s I P 8§ | 3
| S ] 3 | N [ 1]
| {1 I ] [ i I L | |1 | §
I I I I g '
| O ! N | I I N 414 x 2"
' U | [ U‘\ 414 x2" 58 | U L S.S. SMS.
| | U S.M.S. (Typ. (Typ. TOP
,_@ or @ | TOP & BOTTOM) ! & BOTTOM)
| SEE SCHEDULE
[T FOR Min, SERARATION—— "@ or @ SEE_SCHEDULE | _ —— :) or @
| SEE_SCHEDULE | FOR Min.
EXISTING FOR Min. [~ SEPARATION
ouAss. SEPARATION | 10 6LASS
| - / : o oS l EXISTING —
I EXISTING —-| j/L GLASS.
l ‘l/l £XSTING —| /1 Guass. |
| GLASS. | I/] |
I ’ |
| | [
I l |
! ' |
| : ~ A |
| ~ , ¥ hE |
| X i | i |2 |
! P g ) I r
' 3 1|2 | I /—@} ik | [ m
o 1] 8 : | L | Il N
L I ! LT | [ L
I | | | 1M = ] OPTIONAL ] RS
g [T iuni 2 : USHING | Tk
. L ) [~ oPmona | "’ TOP/BOTTOM) | 1 L]
3 ~~~BUSHING ! F14 x 3/4" S. | T o
: e TOP/BOTTOM) | SMS. @ 12" 0.C. [
<7 /] S Iid / ' EDGE OF SLAB
— S .  ——— EDGE OF s1AB ~—
pr—— | 1"; IF APPLICABLE IF APPLICABLE
I < I
B £ D.
£ D: IIV
s ancre | g e/ ?3&0@5’5535550“ /
CONCRETE ANCHORS REQUIRED L
2285’,; EVZALL (SEE SCHEDULE) Zgggg?%[fo“c’?ﬂ E CONCRETE ANCHORS

WALL MOUNTING
INSTALLATION
SECTION A

SCALE : 3/8" = 1"

CEILING & FLOOR

MOUNTING INSTALLATION
SECTION B

SCALE : 3/8" = 1"

(SEE SCHEDULE)

CEILING & FLOOR
MOUNTING INSTALLATION

SECTION B1

SCALE : 3/8" = 1

© 2007 HURRIANE PROTECTION WANUFACTIRERS ASSOCUTION PERFORMANCE SYSTEM 2 ACCORDION SHUTTER DRA:”: ar:
P 07/11/07
— MGDEL'S SERVICES CORP. 711/
IL E c o (HP.MA # 30) DATE
o o WS Ve 20 puscE 07180
TILLIT TESTING & ENGINEERING COMPANY L —
6355 N.W. 36th, St., Ste. 305, VIRGINIA GARDENS, Fl. 33166 PH: (786) 236-4546 FAX: (305) 364-9478
Phone : (.105)577E Bli-?oog‘;'I-g(JM)W 1-1531 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr, P. E, ; - p 3 = =
JUL i 2 2007 FLORIDA Lic. # 44167 - - = 7 - — | SHEET 2 OF 6

POURED CONCRET! E
REQUIRED

/ /  — £DGE OF SLAB
IF APPLICABLE

N

N

SEE SCHEDULE
SEPARATION

9

W/ 7/16"¢ x 7/8"
LONG NYLON BUSHING

qu (Typ. TOP & BOTTOM)

i |

—— e — e H BL

C

FOR Min.
TO GLASS

C

250" Max—~ |-

]
|
|
[
N # 14 x 2"
Lss SMS.

(Typ. TOP
& BOTTOM)

‘——@or@

1t

[l
l | ,
[ 1] ¥
¥ s
I ik
L]y
TT aw]
L':J L ormow
o TOP/BOTTOM,)

——FEDGE OF SLAB
IF APPLICABLE

(SEE SCHEDULE)

////

CONCRETE ANCHORS‘

POURED CONCRETE

REQUIRED

CEILING & FLOOR

SECTION B2

SCALE : 3/8" = 1"

MOUNTING INSTALLATION :

# 14 x 3" 5.5. S.MS,

Appvever] as epmiplyioy with the

Floridn Buiting Tode
Z

¥ Py d

sl Contyol

F.B.C. (High Velocity Hurricane Zone)




PQURED CONCRETE
OR CONCRETE

BLOCK WALL
REQUIRED

CONCRETE ANCHORS
(SEE SCHEDULE)

1/4" 8-20x3/4" S.S. BOLTS

W/ NUT & WASHER @ 9" O.C.

1° Min:
£Q—

I
|
|
!
|
!

SEE SCHEDULE
FOR Min. SEPARATION-

TO GLASS

l
|
l
|
!
!

9

7|

EXISTING —
GLASS. !
|
|
|
|
|
|
|
|
Q
a
= /J
CE——-H
1

I

.500

Z-POURED CONCRETE \— CONCRETE ANCHORS

OR CONCRETE BLOCK
WALL REQUIRED

B

(SEE SCHEDULE)

UILD—QUT INSTALLATION

—~ SECTION C

SCALE : 3/8* = 1”

1]
F 14 x 3° S.S. SMS.
W/ 7/16"8 x 7/8"
LONG' NYLON BUSHING
E'3 (1. 0P & BoTTOM)

POURED CONCRETE

OR CONCRETE
BLOCK WALL
REQUIRED

CONCRETE ANCHORS —\]
(SEE SCHEDULE)

1/4" ¢-20x3/4" S.S.
BOLTS W/ NUT &

/' WASHER @ 9" 0.C.

1" Min;

3

®

& BOTTOM

BUILD—OUT INSTALLATION

# 14 x 3" S.S. S.M.S.
w/ 7/16" # x 7/8"

LONG NYLON BUSHING
(Typ. TOP & BOTTOM)

N— # 14 x 2" S5,

SMS. (Typ. ToP
& BOTIOM)

~—©or €

OPTIONAL
BUSHING
TOP/BOTTOM)

#14 x 3/4” SM.S.
@ 12" 0.C

1/4" 8—20x3/4" S.S. BOLTS

W/ NUT & WASHER @ 9" O.C.

OR #14 x 3/4” S.M.S.

¥ LI ]
H I
| b [l frrd
(] 1 T 1
I N | I
I 1IN u | X I
| | # 14 x 2" S.s. | [ I
S.M.S. (Typ. ToP |
[ I & BOTTOM) I I
U o [ Ui LJ
@0 ® |
|
L SEE SCHEDULE
FOR Min. SEPARATION—
! TO GLASS
ESTING
GLASS. I
alan ’ /!
|
I
I
|
|
m ' -
[ g3 ! N
0 I
[ LHS Il .
I 1ge I W g
| NI ' N
S |1 [~]
11 l]II!l N'E | Q
Il O T
Il ; I
Q
b~ oProna
BUSHING uf
TOR/BOTTOM)
A POURED CONCRETE —— _
T OR CONCRETE BLOCK
:(‘\ WALL REQUIRED — <A g H ]
1 Min: ———H 1" Min-~t
1/4" 8-20x3/4" S.5. BOLTS
W/ NUT & WASHER @ §* 0.C. CONCRETE ANCHORS —
OR #14 x 3/4" SMS. (SEE SCHEDULE) 1 A
@ 9" o.c @ 9" oc.

— SECTION C1

SCALE : 3/8"

= 1"

@\b

JUL 12 2007

o

2 50% SPAN-
©
9
<

fe————SHUTTER SPAN (SEE SCHEDULE)—o— -

/@ or @
OLLD)
| _— SEE NOTES ON SHEET

L1 4 OF 6 FOR LOCKING
1 SPECIFICATIONS

j{ |

.or@OR'/‘}

@4‘@0"@0"@

TYPICAL ELEVATION

>

> >

TOP ™}/ BOTTOM (OPTIONAL)

N T S

R
gy

-
b

e e »,,m?ﬁﬁ

Wl Al

F.B.C. (High Velocity Hurricane Zone)

© 2007 HURRICANE PROTECTION MANUFACTURERS ASSOCHTION

/ |lL|ECOmc.\

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th, SL, Ste. 305, VIRGINIA GARDENS, Fl. 33166
Phons : (J05)877 1530 . Fox : (305)871-1531

EB~-0006719
WALTER A. TILLIT Jr. P. E.
FLORIDA Lic. # 44167

AWN BY:

PERFORMANCE SYSTEM 2 ACCORDION SHUTTER OR . ar:

P 07/11/07

MIGDEL'S SERVICES CORP.
(HPMA. § 30) DATE
1664 WEST 38 PLACE
HIALEAH, FLORIDA 33012 07—180
PH: (786) 236—4546 FAX: (305) 364~9478

REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No

] = z 2 - —{ SHEET 3 OF 6
P) - - 4 - -




CONCRETE ANCHORS =~
@ 18" 0. C.

POURED CONCRETE ——

SEE SCHEDULE FOR
Min. SEPARATION
TO GLASS

REQUIRED

@ 18" 0. C.

3/16 @ ALUM. POP
RIVET @ 8" 0. C.

REQUIRED

1/2° OR

3/8"8 HOLE FOR
LOCKING PIN AT —
STACKING POSITION
(LOCATION VARIES)

SECTION D

SCALE : 3/8" = 1"

(SEE NOTES)

OFPEN OPTIONAL SLOTTED

HOLE FOR HANDLE
AT £  MIDSPAN

\ Alum, ANGLE

3/8"8 HOLE FOR
LOCKING PIN AT
STACKING POSITION
(LOCATION VARIES)

~ CONCRETE ANCHORS
@ 18" 0. C.

I~ POURED CONCRETE
REQUIRED

or@

(SEE NOTES)

S #14 x 3/4" 5. 5.
S. M S. OR 3/16" ¢

Alum. POP RIVETS @

@_ﬁ‘——*t 9" 0. ¢ (Typ.)
2" x 2" x 125"
ALUMINUM TUBE
SECTION E

SCALE : 3/8" = 1”

NOTE :

SECTIONS SHOWN CAN BE COMBINED
TO SUIT ANY INSTALLATION.

OPEN OPTIONAL SLOTTED
OLE FOR HANDLE
AT +  MIDSPAN

2" x 2" x 125"
ALUMINUM TUBE \

HOLE FOR HANDLE
AT £+ MIOSPAN

SECTION D1 (& MULTIPLE SHUTTERS)

SCALE : 3/8" = 1"

OI’@

(SEE NOTES)

OPEN OPTIONAL SLOTTED
HOLE FOR HANDLE
AT £ MIDSFAN

1 \— 1" x 1" x .062"

Cont. Alum. ANGLE

#14 x 3/4" S. S.
S. M. S. OR 3/16" o
Alum. POP RIVETS ©
9" 0. ¢. (Typ.)
1" x 1" x .062"
Cont. Alum. ANGLE

(OPTIONAL)

> SECTION E1

SCALE : 3/8" = 1°

(SEE NOTES)

OPEN OPTIONAL SLOTTED
HOLE FOR HANDLE

AT £ MIDSPAN

(SEE NOTES)
OPEN OPTIONAL SLOTTED

ONE SIDED SECTIO

2" x 2" x ,125"
ALUMINUM TUBE _\

1%

(OPTIONAL)

! or@

(SEE NOTES)

OPEN OPTIONAL SLOTTED
HOLE FOR HANDLE
AT £  MIDSPAN

SCALE : 3/8" = 1"

SECTION E2

SCALE : 3/8" = 1"

#14 x 3/4" S. S,

S. M. S OR 3/16" @

Alum. POP RIVETS @
9" 0. C. (Typ.)

1" x 1" x .062"

Cont. Alum. ANGLE

N—— 1" x 1" x 062"
Cont. Alum. ANGLE

PQURED CONCRETE

CONCRETE ANCHORS

#14 x 3/4" S. M. S. OR

11" OR 1"x2" OR 1 1/2" x 1
11/2" x 2" OR 2
x 2"O0R 2" x 3"OR 2" x 4"
OR 2" x 5” x .055" Min. THICK

COVERED W/ NYLON

2" x 2" x .125"

AT THE TIME SHUTTER IS

OR 3" x 3" x .090" CLOSED AT HURRICANE

Alum, TUBE POST
(6063-T6 ALLOY)

POSITION.

(4) 3/16" 8 Alum. POP,
g/ngSOR(T# )74 x 3/4 2" x 2" x 125" x
. M. S. (Typ. TUBES® SIZE
Alum. ANGLE

(2 REQUIRED)

CONCRETE ANCHORS
EA. ANGLE

EDGE OF SLAB

ISOMETRIC
(CORNER _POST)

(Typ. AT TOP & BOTIOM SLABS)

GRIND SMOOTH

EDGE ALL AROUND.

3.062™

1—PUSH BOTTOM LOCK
SECURED FROM TH
WHEN INSTALLING
SHALL BE DRILLED AT
THE BACK OF@ TO THE FRONT W/ (2)3/16"8 ALUM. POP
RIVETS. A Jéagﬂ HOLE MUST THEN BE DRILLED AT@
ALLOW FOR!

WHEN INSTALL

70
MUS

PIN TO PASS THRU.

2-5/16"x1" LOCK
FOR INSTALLATI
OF SHUTTER. IN_THIS CASE, A 5/16"¢ HOLE SHALL BE
DRILLED THRU @

TAPPED TO ACCEPT 18

NOTES FOR LOCKING OF ()& @)

MAY BE USED FOR INSTALLATIONS
OUTSIDE OR INSIDE OF SHUTTER.
FROM THE_QUTSIDE, A 7/8"¢ HOLE
AND(DYMUST BE RIVETED FROM

70
PIN. TO PASS THRU.
ING (U)FROM THE INSIDE,
W/(2)3/16™8 ALUM. PO
THEN BE DRILLED THRU

(DMUST BE RIVETED
RIVETS. A 3/8"8 HOLE
AND @) TO ALLOW FOR

MAY BE USED ALTERNATIVELLY TO(J)LOCK
S SECURED FROM THE OUTSIDE ORINSIDE
AND H1. HOLE DRILLED TO SHALL BE
HREADS PER INCH MACHINE SCREW.

1"%1" OR 1"x2" OR 1 1/2" x 1

1/2" OR

1 1/2"x 2" OR 2"

x2"0R 2" x 3" OR 2" x 4"
OR 2" x 5" x .055" Min. THICK
Alumn, ANGLE

l— CONCRETE ANCHORS
[ @ 9" 0. C

— POURED CONCRETE

; END CONNECT/ON DETA IL OPTIONAL SLOTTED HOLE TO BE

REQUIRED
#14 x 3/4°S. M. S. OR
3/16 ¢ ALUM. POP
RIVET @ 9" 0. C.
ALTERNATE CLOSURE DETAIL W .
SCALE : 3/8" = 1" [+.062" “}i‘.
oI 2N
J Q ~
7 r\\1 5 - 3.250" A\
AN J
NYLON CAP DETAIL
SCALE : 3/8" = 1"
889"
Approved & eomplyiig with the
Flovide Bulding Lad
LA e / g oé
N DAT_ 07 yiA
dado Produst Goneed
ELEVATION X

F.B.C. (High Velocity Hurricane Zone)

© 2007 HURRICANE PROTECTION MANUFACTURERS ASSOCHTION

/ I|LIEco.Nc.\

Phone : (105}571—15.!0 . Fox :
EB-0006719

JUL 12 2007

FLORIDA Lic. # 44167

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th, St. Ste. 305, VIRGINIA GARDENS, Fl. 33166
(305)871-1531

WALTER A. TILLIT Jr. P. E

DRAWN BY:
PERFORMANCE SYSTEM 2 ACCORDION SHUTTER £p
MIGDEL'S SERVICES CORP. 07/07 7;07
(HP.MA # 30) A
1664 WEST 38 PLACE
HIALEAH, FLORIDA 33012 07—180
PH: (786) 236—4546 FAX: (305) 3649478
REV. No DESCRIPTION TATE | REV. Mo DESCRIPTION DATE DRAWING No
L - - 2 - —— SHEET 4 OF 6
2 - - 4 - =




MAXIMUM DESIGN PRESSURE RATING
"W” (p.s.f.) AND CORRESPONDING

MAXIMUM_DESIGN PRESSURE RATING 'W” (p.sf) AND ~  MAXMUM DESIGN PRESSURE RATING "W” (p.sf) AND ~  MAXIMUM DESIGN PRESSURE RATING "W" (p.s.f) AND

(VALID FOR SECTION A ON SHEET 2).

CORRESPONDING MAXIMUM ANCHOR SPACING (in,) SCHEDULE, + CORRESPONDING MAXIMUM ANCHOR SPACING (in.) SCHEDULE. +

o VALID FOR SECTION C ON SHEET 3).
MAXIMUM SPAN "L” SCHEDULE. WTLLSLTX_E/L\JT,\:ESG Wm-SLT::!_%L\J#gSG (VALID FOR SECTIONS B, B1, B2 ON SHEET 2). ( )
MAXIMUM AT TOP OR BOTTOM AT TOP OR BOTTOM FLOOR/CEILING WALL MOUNTING WALL MOUNTING
MAXIMUM SHUTTER SPAN (70 CONCRETE) (TO MASONRY) MOUNTING INSTALLATION INSTALLATION INSTALLATION
SPAN FOR ALL SECTIONS € |MINIMUM SEPARATION D.'.':S,'.GN LOAD SHUTTER SPAN SHUTTER SPAN MAXIMUM TOP OR BOTTOM MAXIMUM AT TOP OR BOTTOM | AT TOP OR BOTTOM
DESION. LOAD TO BLASS (in.) W st DESIGN LOAD | (1O CONCRETE) DESIGN LOAD (TO_CONCRETE) (TO_MASONRY)
ES! ALL SECTIONS 5'-0" 5’0" |g’-6" TO|10'~0" |5'~0" [5'-0" 8’8" |10'-0" ot o
W (p.s.f.) Max.L:»(«':LL) LENGTH Mnx.‘iAN(E,lt_)LENGTH OR LESS |10 8'-6"|10~0” |To Max. |oR Less |to 8'—s|TO TO MAX. W' (p.s.f.) SHUTTER SPAN W" (p.s.f.) SHUTTER SPAN SHUTTER SPAN
‘ ALLOWED 10'~0" | ALLOWED §-0" |s—0" lg'-g 50" |5-0* |g—g* |5-0" |5'—0" $._?;A
0" —1” ” 6" '—§"{TO MAX. |OR LESS ‘6" |TO MAX.
40 15-0 141 3 g g 9 7 g 4 - OR LESST0 8'-6 ZI?L(%AVC%(D OR LESSITO 8'-6 ALLOWED 0 &-6 ALLOWED
45 12'-8" 14'—1" 3" . . v . p " ~ -
50 12'-4" 14'—1" » FROM : : 6 6 6.5 6 6 6 6
J 40.0 TO 60.0 9 g 7.5 g 6.5 3.5 FROM FROM 6 6 6
55 12'-0" 13°-5" 3" : - 40,0 TO 80.0 6 6 55 40.0 TO 60.0 6 6 6
0 T PPy T oo 9 9 75 | 55 9 3.5 - - 5 5 P 5 6 6 6 6 6
65 11-6" 12'-4" 3" >60.0 TO 75.0| ¢ 85 6 45 9 4 - - FROM 6 6 5.5 FROM 6 6 6 6 6 5
70 11'-4" 11'-11" 3" g 9 8 & 9 5.5 4 3 >60.0 TO 75.0 6 6 4.5 >60.0 TO 75.0 6 & 6 & & 6
75 11°-2" 11'-6" 3" 9 7 5 5 9 ~ - - 5 6 6 6 6 6 6 6
— — - FROM
80 11-0 -2 3 >75.0 T0 90.0] 9 | 55 | 4 4 9 - - - 5 6 6 6 6 6 6 | 45
85 10°-9" 11"-0" 3" . - FROM FROM
%0 PARPT 0" . G I T S >75.0 T0 0.0 6 | 55 | 45 >75.0 T0 90.0| % 6 6 5 6 | 5°
S 9 4 3.5 - 4 - - - 6 6 6 6 6 6 6 6
95 10°-2" 10"-3" 2 7/8" FROM
; T = >90.0 T0 120.0] 9 3.5 3 - 4.5 - - - 6 4.5 4.5 6 6 6 6 4.5 4
100 9'—11" 9'—11 2 7/8 w
e bl s 292 . = - = - - - 90 0F$8M120 0 ° ’ 22 >90 OF§8M1 20.0 0 ° ° - d :
- - — - — >80. B . .
70 Py YR Z oM 6 35 | 35 6 6 6 6 6 6 6 6
115 9’3" 93" 2 172" >120.0 TO 170.0] 45 3 3 - - - - - 55 | 45 | 45 6 6 - 5.5
120 9—1" 9'—1" 2 1/2:; 6.5 4 - 3 - - - FROM 5 3.5 3.5 FROM 6 6 - 6 4.5 4.5
125 g-10" | &-10" 2 1/2" FrOM 45 | 35 | - - - - - - >120.0 T0 170.0[ ¢ 6 6 >120.0 10 170.0] ¢ 6 - 6 5
130 8'-6" 8-6" 2 38" >170.0 T0 195.0] 3.5 3 - - - - - - 5 4.5 - 6 6 - 4.5 4 -
135 ———= 8'-2" 2 3/8” - - - - - - _ -
7 M / » o FROM 4 3.5 - FROM [5) [5) 4.5
140 P 11 2 3/8 " >170.0 T0 1950 5 % — >170.0 TO 195.0[ 5 s Z 6 _
145 — 77" 2 3/8" MAXLM!JM_QESJQN_EEES.SMRE_BAI[NG_M_(Q&L)_AND
150 — 7'-4" 2 3/8" CORRESPONDING MAXIMUM_ANCHOR SPACING (in.) SCHEDULE. +
s T p 3;5" (VALID FOR SECTIONS C1 ON SHEET 3). ANCHORS LEGEND
TAPCON OR
160 — | &-11" 2z 3/8" WALL MOUNTING WALL_MOUNTING o MAXIMUM ANCHOR SPACINGS ARE VALID FOR MINIMUN O R o coNs
INSTALLATION INSTALLATION " ” ANCHORS ANCHOR
e —— PO PRYT AT TOP OR BOTTOM | AT TOP OR BOTTOM 3” EDGE DISTANCE. FOR E. D. LESS THAN 3", REDUCE CALK=IN
- /! MAXIMUM (TO CONCRETE) (TO MASONRY) ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON TYPE SPACING
170 —— 6'-6" 2 3/8" DESIGN LOAD SCHEDULE BY THE FOLLOWING FACTORS. (NOTE : Min. TAPCON OR CRETE—FLEX SS4
s p— T PRYE W (p.sif) SHUTTER SPAN SHUTTER SPAN E. D. FOR CALK—IN ANCHORS IS 2 1/2"). FOR THIS 3.0"
s_o" |s—0" la-g* |5-0" ls—0" |g'—6" OPERATION TO BE POSSIBLE, REDUCED SPACING OBTAINED MAX|—SET TAPCONS
180 ———- 6'-1" 2 3/8" OR LESS |10 8'-6"{T0 MAX. |OR LEss|To &'~6"|TO MaX. USING FACTOR SHALL NOT BE LESS THAN MINIMUM 3192 psi. (MIN.) CONCRETE
— p ALLOWED ALLOWED SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS "
185 S 511 2 38 p p p 5 5 > LEGEND. CALK—IN 2.5
190 —— 5-10" 2 38" FROM 3000 psi. (MIN.) CONCRETE
195 R 5_8" 2 3/8" 40.0 TO 60.0 9 9 9 9 9 55 ACTUAL E. D. FACTOR n
' ' 5 P P P 5 . ~ CRETE—FLEX SS4 3.0
21/2 .86 3350 psi. (MIN.) CONCRETE
9 9 9 9 7 "
¢ NOTES: FROM 2 .75 Appraved s complylng with e
>60.0 TO 75.0 9 9 9 9 8 4.5 ﬂm‘*‘aﬁ:ﬁ ﬂ&za:wnn,ﬂe
(1) L+: MAXIMUM ALLOWABLE PANEL LENGTH FOR A GIVEN A A 3 3 A 2 R,,ZLK%%'.}O,_OQ
POSITIVE DESIGN LOAD. 0as 01- 072712
L-: MAX. ALLOWABLE PANEL LENGTH FOR A GIVEN NEGATIVE 9 9 3 9 5 3 M‘iam% Disde Fredus Dontiod
DESIGN LOAD, FROM ?Z&gvﬂskw
>75.0 70 90.0 |9 9 8 S | %5 | 35 ﬂ%i
(2) PROCEDURE TO DETERMINE MAXIMUM PANEL LENGTH FOR .
WALL MOUNTINGS OR FLOOR/CEILING: 9 9 9 9 8 5
GIVEN A POSITIVE DESIGN LOAD, DETERMINE MAXIMUM PANEL 9 | 85| 75| 75 -
LENGTH "L+" FROM SCHEDULE. 9 > p 85 3 . . . one
GIVEN A NEGATIVE DESIGN LOAD, DETERMINE MAXIMUM PANEL 590 OFF%MQOO F.B.C. (High Velocity Hurricane Zone)
LENGTH “L-" FROM SCHEDULE. ) ) 9 9 8.5 9 4.5 4 DRAWN BY:
T © 2007 HURRICANE PROTECTION MANUFACTURERS ASSOCATON PERFORMANCE SYSTEM 2 ACCORDION SHUTTER i
FINAL MAXIMUM ALLOWABLE PANEL LENGTH IS EQUAL TO THE 9 75 - - - -P.
MINIMUM DETERMINED PANEL LENGTH BETWEEN "L+" AND "L-". 9 45 _ _ , 07/11,/07
010 MIGDEL'S. SERVICES CORP. 1/
>120.0 T0 170.0[ g 3 6.5 P p I I L I E cCoO (HPMA F 30)
g | 75 3 INC. iR FLORDA 33012 07—180
: - - - ING /| RING COMPANY 4 -
T sgfsls'%rw T!Eﬁrlst s: fogmvgﬁq GARDENS, Fl. 33166 PH: (786) 236-4546 FAX: (305) 364-9478
FROM 7.5 ~ 3.5 - B Phene : (305;67155’?3002‘;‘1;(305)67' 1531 REV. No DESCRIPTION DATE | REV. Wo 'DESCRIPTION DATE DRAWING No
>170.0 TO 195.0 - - : WALTER A. TILLIT Jr. P. E. 1 - - 3 = -
9 d ! JUL 13 2007 FLORIDA Lic. # 44167 2 = z 7 = | SHEET 5 OF &




1/4" @ LAG SCREWS

1/4" @ LAG SCREWS
@ 6" 0C. W/ 1 1/2"

@ 6" 0.C W/ 1 1/2"

@ 3 1/2" 0.C. W/1 1/2" Min. THREADED

Min. THREADED PENETRATION Min. THREADED PENETRATION
TO EXISTING WOOD HEADER TO EXISTING WOOD HEADER.
" g " £ WOOD TRUSSES
) # 14 x 3" S5, 1/4 5 20"’{; S.5. BOLTS i OR RAFTER ©
3 SMS. W/ 7/16" @ 1" Min: /_g/cN T & WASHER @ 9 ' ' 24" 0.C. REQUIRED
] x 7/8" LONG NYLON Y "
BUSHING (Typ. TOP S Q-0 = ]
& BOTTOM) 2 3 # 14 x 3" S.5. 5MS. < 1" x 4" x 1/8" g,,-,,)
W/ 7/16" ¢ x 7/8" -
” /’-— —
= y ~# 14x2"Ss. B— [l szq LONG' NYLON BUSHING — WG B gedt LoNG
i hﬁ/ S.M.S. (Typ. i ™) (Typ. TOP & BOTTOM) LAG SCREWS TO EACH RAFTER OR TRUSS.
i TOP & BOTTOM) | L LOCATE SCREWS AT MIDWIDTH OF EXISTING
i it i - WOOD MEMBER, (2" Min. NOMINAL WIDTH)
H L § D:‘__T_J ! 1 | o o W/ 2 1/2" Min. THREADED PENETRATION.
I ii i T 5 ! 11~ # 14 x 2" S5,
i o ; ! 1Yl sMs. (Typ. TOP - # 14 x 3" S.5. SMS. W/ 7/16" 8
?g WOOD HEADER U L —@or @ ! WOOD HEADER { 't & Borrom) Py ® g1y x 7/8" LONG NYLON BUSHING (Typ.
i REQUIRED ; REQUIRED H . ' i {1 TOP & BOTTOM)
¥ I [
gﬂ%ZNG—- I st;s‘ SCHEDULE EXISTING— or Y , /4" ! re ~ N
FOR Min. SEPARATION~—— 6LASS. | SEE SCHEDULE 6" | L
.L SMS. 0.C: e 3
T0 GLASS N lﬂ-————FOR Min. SEPARATION- ¥ P> # 14 x 2" 85 %f%ﬁ%ﬁ%gf i
7O GLASS :: i SM.S. (Typ. TOP [~ 70 GLASS |
ALTERNATIVE 1 © ALTERNATIV 4 see screpue | | oW .
L al H
ERNATIVE 3 FOR Min, SEPARATION GLASS: ™ ¥ 3
Y. — TO GLASS —@or @ I LSS
[ .
i %g‘
y i NEY OPTIONAL
I+ t £ . g 1/4" 8 x 1 1/2” LAG SCREWS - ' BUSHING
¢ » » . (!
. o e © 4" 0.C. W/1 1/2" Min. THREADED— ! v o
§ r § EXIST/NG——J: P H S8R ALTERNATI VE_’ PENETRATION TO EXISTING WOOD DECK. - 2 S,
1 r X [ Q Q
sG] e 4 I S§ i .#, A - i i &gm — (NO FINISH ALLOWED)
cLass. | woop pLATE {1 | S REQUIRED. L | Ry ~-SEE_SCHEDULE [—1——/" =
! REQUIRED. i & x@ : i i | FOR Min. - ,
! L G0 - * n SEPARATION ]
! ¥ - = OPTIONAL 2.3 - ]
i T TOPTIONAL BUSHING a3 I
i RUSHING = |(T0F,/80TTOM) EXISTING— S flort =
s corseome E e Re|l| Ry~ (ropomow ALTERNATIVE 3
8 1/4" #—20x3/4" S.S. nE P f14 x 374"
1/4" LAG SCREWS @ 6" 0.C. BOLTS W/ NUT & WASHER ' 1 SMS. @
W/ 1 1/2" Min. THREADED ® 9" 0.C. 9/? #14 x3/4" ! 12”7 0.C.
PENETRATION TO EXISTING SMS. ® 9" 0.C. b 2" x 6" WooD
WOOD PLATE, 1/4” LAG SCREWS © 6" 0.C. 0. DECK REQUIRED
W/ 1 1/2" Min. THREADED (NO FINISH ALLOWED)
WooD STUD © PENETRATION TO EXISTING ——
————
\\ N—24 0.C. MAX, WOOD PLATE. / _;’3‘
AT R, REQUIRED.
IR =
\ 1/4" 8 x 1 1/2" 1AG SCREws_/
AR ALTERNATIVE 4 ot

ALTERNATIVE 2

V!
©or &

# 14 x 3" SS.
SMS. W/ 7/16" ¢
_x 7/8" LONG NYLON

1/4" ¢ LAG SCREWS @
6" 0.C. W/ 1 1/2" Min.

PENETRATION TO EXISTING WOOD DECK.

ALTERNATIVE 2

WALL MOUNTING INSTALLATION (OFFSET)

SECTIONS B

SCALE: 1/4°=1"

NOTE

Agigawmi as complyiag with the

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

Florlda &a&um Tadde
Date OL/1 Y4/ 2008

NOAY o7 - 07 112

THREADED PENETRATION TO BUSHING “
EXISTING WOOD HEADER. EXISTING — |~ f 14 x 2" S8,
GLASS. SEE SCHEDULE N _ S.M.S.
| _FOR Min. SEPARATION_|| | X
T0 GLASS i 3
1/4" #-20x3/4" S.5. BOLTS 2% 4” N P %
W/ NUT & WASHER @ 9" O.C. WOOD PLATE H 55 8
1 REQUIRED. ~— ! ) %/N
] oo i ¥ ’ —1_oPrioNaL
# 14 x 3" S.5. S.MS. l’ BUSHING
W/ 7/16" ¢ x 7/8" \ "
=" LONG NYLON BUSHING A A
2
= gy (Tvp. TOP & BOTTOM) ﬁ 3 .- ° 12" 0.C.
! im,{ "’ = Min.
|
= b 1/4" 8-20x3/4" 5.S. BOLTS
l_l_'L_l W/ NUT & WASHER @ 9"
= 0.C. OR #14 x 3/4"
1

S.M.S. (Typ. TOP

[

[
Hh-#14x2"ss
i : S.MS. @ 9" 0.C.
11

P —

i & BOTTOM,

i e 4 - ) 1/4" LAG SCREWS @ 6" 0.C.
EXISTING —-t —@or @ W/ 1 1/2" Min. THREADED
oLass. | SEE SCHEDULE PENETRATION TO EXISTING

——"FOR Min. SEPARATION——] WOO0D PLATE.
TO GLASS

ALTERNATIVE 5 ‘ \‘v

WALL MOUNTING INSTALLATION (OFFSET)
SECTIONS A

SCALE: 1/4"=1"

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

ALTERNATIVE 6

JUL

NOJES :

1. INSTALLATIONS ARE ONLY VALID FOR INSTALLATIONS WITH DESIGN WIND LOADS
LESS THAN OR EQUAL TO 75 p.s.f. AND 9'—0" Max. SHUTTER SPAN.

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN

PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

Ma;amﬁ i/%?%* Frodinet Contrel

12 2007

I\-/

F.B.C. (High Velocity Hurricane Zone)

© 2007 HURRICANE PROTECTION HANUFACTURERS ASSOCHTION

/ lILIEC O .

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th, St, Ste. 305, VIRGINIA GARDENS, Fl. 33166

Phone : (305§871-1530 . Fox : (305)871—1531
EB-0006719

WALTER A. TILLIT Jr. P. E.

FLORIDA Lic. # 44167

RAWN o

PERFORMANCE SYSTEM 2 ACCORDION SHUTTER b :’P br

MIGDEL'S SERVICES' CORP. G

(HPMA # 30) o
1664 WEST 38 PLACE
HIALEAH, FLORIDA 33012 07—180
PH: (786) 2364546 FAX: (305) 3649478

REV. DESCRIPTION DATE REY. No DESCRIPTION DATE DRAWING No

! - - 2 - ——{ SHEET 6 OF 6
2 = - 4 = =




